Mixed Factoring Review

253 + 4x’ - binomial or trinomial
Common Factor 2 - large exponents
oxy +10xy” -5 - more than one variable
2 4 dy + 3 - frinomial
X X
Trinomials 1 , - may have GCF
2x°-4x-6 - first term is x°
- trinomial
Trinomials 2 2x2 + 7x - 4 - no GCF
- first term is x°
- binomial
: x*-9
lglffer'ence of 1642 - 49b? - must have a negative
quares a’ -

- perfect squares

When solving:
1) Look for GCF and common factor it out of all terms.

2) Look for one of the following:
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- Difference of Squares ( X \\@VX\’%\
B a1

3) Factor using strategies for one of the three types. If no
other factors then it was only a common factoring question.
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Difference of Squares

1. xZ _‘y4 I

- (LX)

2. 4x? — 25y

- (22454 Yoa-SE)

3. 9a% — 100h?

= (3a+10b) 310k )

4, 81m? — 121n?

= (C{'m+l[tLXf{i;vt—[[M>

5. 1/43:2-1/95
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. 6. 4_/9c —9/16d%

= ("C-r—*&(.}(g ¢- (’L)

7. x> —16 _

= (z+44 Xx~-4)

8. 9y*—o64

:(%g+g>(%y-g]

9. x%y?—4 '

= (zol 2 X§-2)

10.m? — 225

= (m 415 Xm-{5)

11. 144 — y?

= (129024 )

12.mé =49

= (wd 4 T =7 )

13.x% — a?h? .

= (x rab)(x-ab)
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- (4o l0K Xe-10k)
16.121A2k% ~ 36m?
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17. xe‘y —9 :
- (X 43X $-3)
18.5x% - 5y?
G+ g X =)

19.x% -1 :

= (XF X X*=1)
20.py* — 4p
=p(Y+2)(%~2)
21.4x% -36q%2

- H(xr3eXx5g)
22,27x?% — 75y2

= 3BLHTY N3 &&)
23.8a% — 50b2 _

= 2 (2a+5bX(2a~tb)
24.3x% - 3y* .
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